

beall conditions for last time:

If $\frac{d}{dt} \chi_{H_T}(\Omega_T, f(t), \tau(t)) \geq 0 \quad t \in [0, T), \quad T < \infty$

then $\exists \delta = \delta(c_0, c_1, T) > 0 \quad \text{s.t.}$

$\forall \Omega_t \cdot \frac{|\Omega_t \cap B_r(x_0)|}{r^{n+1}} \geq \delta \quad \forall r \leq \sqrt{T}$

as by as $\frac{|\Omega_T \cap B_r(x_0)| + r^2 \int_{\Omega_T \cap B_r(x_0)} |H|}{|\Omega_T \cap B_{r/2}(x_0)|} \leq C_1$



let $\lambda_j \searrow 0 \quad t_j \nearrow, \quad x_j \in \mathbb{R}^{n+1} \quad \left(\text{Not at } x_0, \text{ but since } x_j \right)$

$\Omega'_s := \frac{1}{\lambda_j} (\Omega_{\lambda_j^2 s + t_j} - x_j), \quad t = \lambda_j^2 s + t_j \in [0, T)$

$(\Rightarrow s \in (-\lambda_j^{-2} t_j, \lambda_j^{-2} (T - t_j)) \equiv (a_j, b_j)$

\exists smooth limit $(M'_s)_{s \in (-\infty, b)}$ under set

$(\Omega'_s)_{s \in (-\infty, b)}$ under suitable assumption on (λ_j) .

Ⓐ scale invariant.



$$\Rightarrow (\infty_j) \frac{|\Omega'_j \cap B_r(x_0)|}{r^{n+1}} \geq k > 0 \quad \text{same } k \text{ as } \textcircled{1}.$$

$$\forall s \in (a_j, b_j), r \in (0, \frac{\sqrt{T}}{\lambda_j}), \quad \forall B_r(x_0) \cap \Omega'_j \neq \emptyset \implies O(\Omega'_j; B_r(x_0)) \leq C_1.$$

$$j \rightarrow \infty \implies \frac{\sqrt{T}}{\lambda_j} \rightarrow \infty \quad \text{and } \textcircled{1}.$$

$$\Rightarrow \frac{|\Omega'_s \cap B_r(x_0)|}{r^{n+1}} \geq k > 0 \quad \forall s \in (-\infty, b) \quad \boxed{\forall r > 0}$$

$$\text{as long as } O(\Omega'_s; B_r(x_0)) \leq C_1.$$

\Rightarrow Exams (1)-(3) can be done as scaling limit (slab, antenodal volume, green reaper \mathbb{R}^n)

Prop. $f: \Omega \rightarrow \mathbb{R}, \Omega \subset \mathbb{R}^{n+1}$ open, smooth, $\tau > 0,$

$$n = \frac{e^{-f}}{(4\pi\tau)^{\frac{n+1}{2}}} \quad \text{satisfies}$$

$$\tau (2\Delta f - |\nabla f|^2) + f \equiv \text{const in } \Omega.$$

Then, $T = (T_{ij})$ be defined by $T_{ij} = \nabla_i \nabla_j f - \frac{d_i d_j}{2\tau}.$

$$\text{satisfies } \frac{1}{n} \operatorname{div}(n \nabla T_{ij}) = \sum_{k=1}^{n+1} T_{ik} T_{kj} + \frac{1}{2\tau} T_{ij}$$

Note: $\frac{1}{n} \operatorname{div}(n \nabla h) = \Delta h - \nabla f \cdot \nabla h, \quad f = \frac{|x|^2}{2} \implies \text{O.U. op.}$

Also. $\text{tr } T = \Delta f - \frac{n+1}{2\tau}$ (see Li-Yau) Example

$$\frac{1}{n} \operatorname{div}(n \nabla h T) = \left| \nabla_i \nabla_j f - \frac{\delta_{ij}}{2\tau} \right|^2 + \frac{1}{2\tau} h T.$$

On $\partial\Omega$, we have .

$$\nabla(h T) \cdot \nu = \nabla^2 f(\nabla f, \nu) - \frac{1}{2\tau} \nabla f \cdot \nu = T(\nabla f, \nu).$$

Furthermore,

$$\textcircled{**} 2\tau \int_{\Omega} \left| \nabla_i \nabla_j f - \frac{\delta_{ij}}{2\tau} \right|^2 n = \int_{\Omega} \left(\frac{n+1}{2\tau} - \Delta f \right) n + 2\tau \int_{\partial\Omega} T(h T, \nu)$$

pt calculation, similar to ~~Hamilton~~ Hamilton Ansatz.

$$2\tau \Delta f - \tau |\nabla f|^2 + f \equiv \text{const} \Leftrightarrow \Delta f = \frac{1}{2} |\nabla f|^2 - \frac{f}{2\tau} \textcircled{**}$$

$$\Delta \nabla_i \nabla_j f = \nabla_i \nabla_j \Delta f = \frac{1}{2} \nabla_i \nabla_j |\nabla f|^2 - \frac{1}{2\tau} \nabla_i \nabla_j f.$$

$\rightsquigarrow \dots \rightsquigarrow$

□

Prop $\nabla f \cdot \nu = \beta$ on $\partial\Omega$.

$$\Rightarrow \nabla(h T) \cdot \nu = \nabla^m f \cdot \nabla^m \beta + \beta \left(\nabla^2 f(\nu, \nu) - \frac{1}{2\tau} \right) - A_n(\nabla^m f, \nabla^m f).$$

$$\text{pt} \quad \nabla(h T) \cdot \nu = \nabla^2 f(\nabla f, \nu) - \frac{\beta}{2\tau} \leftarrow \nabla f \cdot \nu.$$

$$\nabla^m f \cdot \nabla^m \beta = (\nabla^m f)(\beta) = \nabla^m f(\nabla f \cdot \nu) = \nabla^2 f(\nabla^m f, \nu).$$

$$+ \nabla^m f \cdot A_n(\nabla^m f, \cdot)$$

$$= A_n(\nabla^m f, \nabla^m f).$$

□

$$\begin{aligned}
 &= \nabla^2 f(r, v) - \beta \nabla^2 f(r, v) + A_n (\nabla^m f, \nabla^m f) \\
 &= \nabla(\nabla \cdot T) \cdot v + \frac{\beta}{2\tau} - \beta \nabla^2 f(r, v) + A_n (\nabla^m f, \nabla^m f) \\
 \nabla^m f &= \nabla f - \beta v.
 \end{aligned}$$

Corollary. $2\tau \int_{\Omega} 1 \dots 1^2 u = \int_{\Omega} \left(\frac{n+1}{2\tau} - \Delta f \right) u$

$$+ 2\tau \int_{\Omega} \left(\nabla^m f \cdot \nabla^m \beta + \beta (\nabla^2 f(r, v) - \frac{1}{2\tau}) - A (\nabla^m f, \nabla^m f) \right) u.$$

Corollary. If (f, τ) min pair for $\sigma_p(\Omega)$ with $\tau > 0$, then

$$\int_{\Omega} \left(\frac{n+1}{2\tau} - \Delta f \right) u = \int_{\Omega} \beta u \quad \left(= 2\tau \int_{\Omega} \frac{\beta}{2\tau} u \right).$$

Next week: $\frac{d}{dt} W_p(\Omega_t, f(t), \tau(t)) \rightarrow$

$$= 2\tau \int_{\Omega_t} 1 \dots 1^2 u + 2\tau \int_{\Omega_t} \left(\frac{\partial \beta}{\partial t} - 2 \nabla^m f \cdot \nabla^m \beta + A (\nabla^m f, \nabla^m f) - \frac{\beta}{2\tau} \right) u.$$

$$= \int_{\Omega_t} \left(\frac{n+1}{2\tau} - \Delta f \right) u + 2\tau \int_{\Omega_t} \left(\frac{\partial \beta}{\partial t} - \nabla^m f \cdot \nabla^m \beta + \beta (\nabla^2 f(r, v) - \frac{1}{2\tau}) \right) u.$$

$$= \int_{\Omega_t} \left[\left(\frac{\partial}{\partial t} - \Delta_{\Omega_t} \right) \beta + \beta (\nabla^2 f(r, v) - \frac{1}{2\tau}) \right] u.$$

\rightarrow some open

$$= - \int_{\Omega} \Delta_{\Omega_t} \beta u$$

we can
has μ_n, M
closed upfd.

$$\left(\frac{\partial}{\partial t} - \Delta_{\Omega_t} \right) \beta = H|\beta|^2$$

\uparrow
anyhow to
be $\frac{1}{\tau}$.

(4)

Note $(\frac{\partial}{\partial t} - \Delta_{M_t})H = H|A|^2$ in MCF $\frac{1}{g} \frac{d}{dt} (\beta = H)$

Then, may use $\mu(t, T_t)$ time t for $\sigma_{H_{M_t}}(\Omega_t)$ when $T_t > 0$.

$$\frac{d}{dt} \sigma_{H_{M_t}}(\Omega_t) \geq 2T_t \int_{M_t} H_{M_t} (|A_{M_t}|^2 + \sigma^2 f(x, \nu))$$

Focus \rightarrow $-\frac{1}{2T_t} \mu$
 maybe only $\frac{1}{T_t}$?
 $\frac{d}{dt} \left(\int_{M_t} H_{M_t} \right)$

